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PRACTICE PAPER (2023-24) 



General Instructions:  

 सामाÛय िनदȶश: 

Read the following instructions very carefully and strictly follow them. 

(i) Question paper comprises five sections A, B, C, D, E and F. There are 38 questions in 
the questions paper. All questions are compulsory. 

(ii) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple choice ) 
carrying 1 mark each. 

 (iii) Section B-Question no 21 to 26 are very short questions, carrying 2 marks each. 

(iv) Section C- Question no 27 to 28 are case study questions carrying 3 marks each.  

(v) Section D- Questions no 29 to 33 are short answer type questions, carrying 3 marks 
each. 

(VI) Section-E Questions no. 34 to 37 are long answer type questions, carrying 5 marks 
each. Answers to each question should not exceed 120 words. 

(vi)Section F- Questions no 38 is map based, carrying 5 marks . part A is from history 
(2marks) and part B is from geography (3 marks). 

(vii) There is no overall choice in the question paper. However, an internal choice has 
been provided in few questions. Only one of the choices in such questions has to be 
attempted. 

(viii) Attach map along with your answer book. 

(ix) In addition to this, separate instructions are given with each section and question, 
wherever necessary. 

 
Section-A (1x20) 

Tick the Correct answer 

सहȣ उƣर पर िनशान लगाइए  

 
Q.1  ‘World Religious Conference ‘ was held in the Chicago city of America on 

A) Sept. 11, 1893 AD           C) June 11 , 1924 AD  

B) Sept. 23 , 1893 AD          D)  June 23 , 1923 AD 

‘ǒवशव धम[ सàमलेन’ अमेǐरका के िशकागो शहर मɅ  ................... हुआ | 

A) Sept. 11, 1893 ई           C) June 11 , 1924 ई  

B) Sept. 23 , 1893 ई          D)  June 23 , 1923 ई  

 



Q.2 The Founder of Indian National Congress was 

A) Morarji Desai            C) A. O. Hume 

B) Pt. Jawaharlal Nehru    D) None of these 

भारतीय राƶीय कांĒेस के सèंथापक कौन थे ? 

A) मोरारजी देसाई         C) ए ओ ƻूम 

B) पǑंडत जवाहर लाल नेहǽ    D) इनमे से कोई नहȣं  

 

Q3 The Kuka or Namdhari Movement was Active in  

A. West Bengal             C) Maharashtra  
B. Punjab                   D) None of these 

कूका आÛदोलन Ǒकस राÏय मɅ सǑĐय था ? 

A)    पिशम बगंाल            C) महारƶ  

B)    पजंाब                  D) इनमे से कोई नहȣं  

 
Q.4 Revolt of Indian National Navy occurred in  

A) 1948 AD                 C) 1946 AD 

B) 1926 AD                 D) 1942 AD 

नौसेना का आÛदोलन ............ ई मɅ हुआ | 

 

A) 1948 ई                 C) 1946 ई  

B) 1926 ई                 D) 1942 ई  

 
Q.5 Netaji Subhash Chandra Bose came to Satrod village of Hisar in 

A) 1944 AD                 C) 1946 AD 

B) 1938 AD                  D) 1938 AD 

नेताजी सुभाष चÛġ बोस .......... मɅ Ǒहसार के सातरोड़ गाँव मɅ आए  

A) 1944 ई                  C) 1946 ई  



B) 1938 ई                   D) 1938 ई  

 
Q.6 Who published the Newspaper ‘Jat Gazette’ ? 

A Lala Lajpat Rai            C) Chaudhary Chhotu Ram  

B Noor Samad Khan          D) None of these  

‘जाट गज़ट’ नामक अखबार का सàपादन Ǒकसने Ǒकया ? 

A   लाला लाजपत राय        C)  चौधरȣ छोटू राम  

B नूर समद खान              D)  इनमे से कोई नहȣं  

 

Q.7 China’s Famine of ……………….was the worst recorded Famine in World History. 

A) 1972- 1974                  C) 1958-1961 

B) 1961-1964                  D) None of these  

चीन मɅ ............के दौरान पड़ा अकाल ǒवशव इितहास का अब तक सबसे भयावह अकाल 
था |A)1972- 1974                  C) 1958-1961 

B) 1961-1964                  D) इनमे से कोई नहȣं  

 

Q.8 In a Democracy, the Final Decision making Power must rest with 

A) Those Elected By the People            C) Those who are not Elected  

B) External powers                              D) All of These 

लोकतंğ मɅ अंितम िनण[य लेने कȧ शǒƠ होती है ............ 

A) लोगो Ʈारा चुने हुए Ĥितिनिध के पास   C)   न चुने गए Ĥितिनिध के पास   

B)   बाहरȣ शǒƠया ं                               D) ये सभी  

 
Q.9 When was Universal Adult Franchise Granted in India ? 

A) 1919                                         C) 1947 

B) 1950                                         D) 1952 

भारत मɅ साव[भौिमक åयसक मतािधकार Ǒकस वष[ Ĥदान Ǒकया गया ? 



A) 1919                                        C) 1947 

B) 1950                                        D) 1952 

 
Q.10 Who among the following is a part of the Political Executive ? 

A) District Collector                    C) Home Minister 

B) Secretary of the Ministry of the Home Affairs   D) Director General of   Police 

िनàनिलǔखत मɅ कौन राजनिैतक काय[पािलका का Ǒहèसा होता है ? 

A) ǔजलाधीश                             C) गहृ मğंी  

B)  गहृ मğंालय का सिचव             D) पिुलस महािनदेशक  

 
 

Q.11 The Constitution of ……………….. is longest Written Constitution . 

A) South Africa                               C) Germany    

B) France                                      D) India 

Ǒकस देश का सǒवधंान सबसे बड़ा िलǔखत सǒवंधान है ? 

A) दǔ¢ण अĥȧका                         C) जम[नी     

B) ĥांस                                        D) भारत  

 

Q.12 Who appoints the Chief Election Commissioner of India ? 

A) The Chief Justice of India          C) The President of India  

B) The Prime Minister of India       D) The Law Minister of India  

मÉुय िनवा[चन आयƠु कȧ िनयुǒƠ कौन करता है ? 

A) भारत के मुÉया Ûयायधीश          C) भारत के राƶपित  

B) भारत के Ĥधानमğंी                   D) भारत के कानून मंğी  

 

Q.13 Consider the following Statements 

a) In Saudi Arabia, Women do not have the Right to Vote till 2015  



b) In Fiji , the Electoral system is such that the vote of an indigenous Fiji has more value 
than that of an Indian-Fijian 

A) Both a and b are True          C) both a and b are false 

B) a is true and b is false          D) a is false and b is true 

िनमंिलǔखत कथन पर ǒवचार करɅ  

a. 2015 तक सऊदȣ अरब मɅ औरतो को मत देने का अिधकार नहȣं था  
b. Ǒफजी कȧ चुनाव Ĥणाली मɅ वहां के मलू वािसयɉ के वोट का मह×व भारतीय मूल के 
Ǒफजी नागǐरक के वोट से Ïयादा है  

A)  a और  b दोनɉ सहȣ है    C)  दोनɉ a और b गलत है  

B)   a सहȣ है और b गलत    D a गलत है और b सहȣ  

 
Q.14 Wildlife Protection Act was implemented in  

A) 1971                       C) 1973 

B) 1972                       D) 1992 

भारत जीव सुर¢ा अिधिनयम Ǒकस वष[ लागू Ǒकया गया ? 

 A) 1971                           C) 1973 

B) 1972                            D) 1992 

 

Q.15 The river flowing through Rift Valley is  

A) Krishna                       C) Tapi 

B) Brahamputra                D) Yamuna  

ħंश घटȣ मɅ से बहने वाली नदȣ कौन सी है ? 

A) कृçणा                     C) तापी  

B) Ħहमपğु                   D) यमुना  

 
Q.16 Which state has highest population Density in India ? 

A)  Bihar                                          C) Haryana  

B) Kerala                                           D) Sikkim  



Ǒकस राÏय का जनसÉँया घन×व सबस ेअिधक है ? 

A)     ǒबहार                                 C) हǐरयाणा  

B)     केरल                                    D) िसǔÈकम 

 
Q.17 Physical Capital includes  

A) Tools                                     C) Building 

B) Machines                                D) All of these  

भौितक पूजंी मɅ शािमल है..........  

A)          औज़ार                           C) भवन  

B)          मशीने                           D) ये सभी  

 

Q.18 Farming is a type of  

A) Primary Activity                          C) Tertiary Activity  

B) Secondary Activity                       D) None of these 

कृǒष एक Ĥकार कȧ ........... ǑĐया है | 

A)  Ĥाथिमक                               C) ततृीय 

B) ǑƮतीय                              D) इनमे से कोई नहȣं  

 

Q.19 Green Revolution is associated with  

A) Higher Yields                            C) Both A and B  

B) Depletion of Water table           D) None of these 

हǐरत Đांित का सàबÛध है ......... 

A) अिधक उ×पादन                             C)  A  और  B  दोनɉ  

B) भूिमगत जल का िगरता èतर          D) इनमे से कोई नहȣं  

 

Q.20  Pradhan Mantri Gramodaya Yojana was launched in  



A) 1999                     C) 2012 

B) 2000                       D) 2022 

Q.20  Ĥधानमğंी Ēामोदय योजना Ǒकस वष[ शुǾ कȧ गई ?  

A) 1999                     C) 2012 

B) 2000                       D) 2022 

 
 
 
 
 
 

Section- B  

                              (Very Short Answer Questions) (2x6=12) 

 
Q.21  In Which Year Arya Samaj was founded and by Whom ?                         

आय[ समाज कȧ èथापना कब हुई और Ǒकसन ेकȧ ? 

Q.22 Write Two Main Objectives of Ghadar Movement .                                      

ग़दर आÛदोलन के दो मÉुय उदेæय िलखो | 

Q.23 Define Census.                                                                                                    

जनगणना कȧ पǐरभाषा दे | 

Q.24  What is a Bioreserve? Give two Examples . 

जीव मंडल िनचय से Èया अिभĤाय है ? कोई दो उदाहरण दो | 

Q.25 What do you mean by Code of Conduct ? 

आचार संǑहता स ेआप Èया समझते हɇ ? 

Q.26 What is Public Distribution System ? 

साव[जािनक ǒवतरण Ĥणाली Èया है ? 

 
 

                              

 



                                                    Section- C 

(Case Study Based Questions)(2x4=8) 

Q.27 Read the Extract given below and answer the questions that follow :  

Citizens’ rights in Saudi Arabia  

Let us look at the case of Saudi Arabia and the positions of Citizens with 
regard to their Government. Consider these facts: 

 The country is ruled by a hereditary king and the people have no role 
in electing or changing their Rulers. 

 The king selects the legislature as well as the Executives. He appoint 
the Judges and can change any of their decision. 

 Citizens cannot form Political Parties or any Political Organization. 
Media cannot report anything that the Monarch does not like. 

 There is no Freedom of Religion. Every citizen is required to be 
Muslim. Non Muslim residents can follow their religion in private, 
but not in public. 

 Women are subjected to many public restrictions. The testimony of 
one man is considered equal to that of two women.  
This is true not just of Saudi Arabia . There are many countries in 
the world where several of these condition exist . 

          Answer these questions : 
 

Q27.1 Which form of Government exist in Saudi Arabia ?                 1 
Q27.2 What is the Official Religion of Saudi Arabia ?                         1 
Q27.3 Women have equal Rights as males in Saudi Arabia. (Yes/ 
no)                                                                                                              1 
Q27.4 Media cannot report anything………….. . which freedom right 
is discussed here?                                                                                     1 
A) Freedom of speech and Expressions 
B) Cultural right 
C) Freedom to practice any religion 
D) None of these                                                

 
Q.27 Ǒदए गए लेख को Úयान से पडे और उƣर दे  

             सऊदȣ अरब मɅ नागǐरक अिधकार  

आईए , अब सऊदȣ अरब का उदाहरण देखɅ और वह कȧ सरकार अपने नागǐरको को  

Ǒकतनी आजादȣ देती है , इस पर गौर करɅ | ज़रा एन तØयɉ पर ǒवचार करɅ : 
 देश मɅ एक वंश का शासन चलता है और राजा या शाह को चुनने या बदलने 

मɅ लोगो कȧ कोई भिूमका नहȣं होती | 



 शाहȣ ǒवधाियका और काय[पािलका के लोगो का चुनाव करते हɇ | जजɉ कȧ 
िनयुǒƠ भी शाह करते हɇ और वे उनके फैसलɉ को पलट भी सकते हɇ | 

 लोग कोई राजनैितक दल या सगंठन नहȣं बना सकते | मीǑडया शाह कȧ मजȸ 
के ǔखलाफ कोई खबर नहȣं दे सकती |  

 कोई  धािम[क आजादȣ नहȣं है | िसफ[  मèुलमान हȣ यहाँ के नागǐरक हो सकते 
हɇ | यहाँ रहने वाले दसूरे धमȾ के लोग घर के अंदर हȣ अपने धम[  के 
अनुसार पूजा-पाठ कर सकते हɇ | उनके साव[जािनक \ धािम[क अनुƵानो पर 
रोक है | 

 औरतो को वधैािनक Ǿप से मदɟ से कमतर का दजा[ िमला हुआ है और उन 
पर कई तरह कȧ साव[जिनक पाबǑंदयां लगी हɇ |  

       ये बातɅ िसफ[  सऊदȣ अरब पर हȣ लागू  नहȣं होतीं | दिुनया मɅ ऐसे अनेक देश हɇ 
जहाँ ऐसी ǔèथितयां मौजदू हɇ | 

िनàनिलǔखत Ĥưɉ के उƣर दे : 

Q27.1 सऊदȣ अरब मɅ Ǒकस Ĥकार कȧ सरकार है ?                                1 

Q27.2 सऊदȣ अरब का राÏय धम[ Èया है ?                                      1 

Q27.3 सऊदȣ अरब मɅ मǑहलाओं को पǽुषो के सामान अिधकार ĤाƯ हɇ ( हाँ \ नहȣं )    1 

Q27.4 मीǑडया शाह कȧ मजȸ के ǔखलाफ कोई खबर नहȣं दे सकती .......... Ǒकस èवतÛğƣा 
कȧ बात यहाँ कȧ गयी है ?                                                    1 

A) अिभåयǒƠ कȧ èवतंğता  

B) सांèकृितक अिधकार  

C) धािम[क èवतंğता का अिधकार  

D) इनमे से कोई नहȣं  

 
Q.28 Read the following paragraph and answer the questions  

                         Story of Sakal 
There were two friends Vilas and Sakal living in the same village 
Semapur. Sakal was a 12 year old boy. His mother Sheela looked 
after domestic chores. His father Buta Chaudhary worked in an 
agricultural field .Sakal helped his mother in domestic chores. He 
also looked after his younger brother Jeetu and sister Seetu. His 



uncle Shyam had passed the Matriculation Examination, but , was 
sitting idle in the house as he had no job . Buta and Sheela were eager 
to teach Sakal. They forced him to join the village school which he 
soon joined. He started studying and completed his Higher 
Secondary examination. His father persuaded him to continue his 
studies. He raised a loan for Sakal to study a vocational course in 
computers. Sakal was meritorious and interested in studies from the 
beginning. With great vigour and enthusiasm he completed his 
course. After some time he got a job in a private firm. He even 
designed a new kind of Software. This Software helped him increase 
the sale of the firm. His boss acknowledged his service and rewarded 
him with a promotion .  
 
Q28.1 What was the Occupation of Sakal’s Mother ?                          1 

A. Agricultural labourer 
B. Housewife  
C. Computer teacher 
D. None of these  

Q28.2 Sakal’s uncle Shyam was unemployed ( TRUE / FALSE )       1 

Q28.3 For what purpose Sakal’s father took Loan ?                            1 

Q28.4 Why was Sakal promoted ?                                                  1         

 

Q.28  Ǒदए गए लेख को Úयान से पड़े और उƣर दे    

                     सकल कȧ कहानी  

दो िमğ ǒवलास और सकल एक हȣ गाँव सेमापरु मɅ रहते थे | सकल कȧ आयु बारह वष[ थी 
| उसकȧ माँ शीला घर का काम-काज देखती थी | उसके ǒपता बूटा चौधरȣ खेत मɅ काम 
करते थे | सकल घर के काम-काज मɅ अपनी मा ँकȧ मदद करता था | वह अपने छोटे भाई 
जीतू और बहन सीतू कȧ भी देखभाल करता था | उसके चाचा æयाम ने मेǑĚक कȧ परȣ¢ा 
पास कȧ थी, लेǑकन वह घर मɅ बेकार बठैा था ÈयूंǑक उसे कोई नौकरȣ नहȣं िमली | बटूा और 
शीला चाहते थे कȧ उनका बेटा सकल पढ़े–िलखे  | वे उस गाँव के èकूल मɅ नाम िलखने के 
िलए जोर देते हɇ , ǔजसमे उसने शीē Ĥवेश पा िलया | उसने पड़ना शǾु Ǒकया और उÍचतर 
माÚयिमक कȧ परȣ¢ा पास कर ली | उसके ǒपता ने उस ेअपनी पढाई जारȣ रखने के िलए 
राजी कर िलया | उÛहɉने सकल के िलए कंÜयूटर के åयावसाियक कोस[ मɅ अÚययन के िलए 
क़ज़[ िलया | सकल Ĥितभाशाली था और आरंभ से हȣ पढाई मɅ उसकȧ Ǿिच थी | उसने बड़े 
लगन और उ×साह स ेअपना कोस[ पूरा Ǒकया | कुछ समय के पƱात ्उसे एक Ĥाइवेट फम[ 
मɅ नौकरȣ िमल गई | उसने एक नए Ĥकार के सॉÝटवेयर  को Ǒडजाईन भी Ǒकया | इस 



सॉÝटवेयर से फम[ को अपनी ǒबĐȧ बढाने मɅ सहायता िमली | उसके बॉस ने उसकȧ सेवायɉ 
से ĤसÛन होकर उसे पदोÛनित दȣ | 

िनàनिलǔखत Ĥưɉ के उƣर दे : 

Q28.1 सकल कȧ माता जी का Èया åयवसाय था ?                 1  

A) खेितहर मजदरू  

B) गहृणी  

C) कंÜयटूर अÚयाǒपका   

D) इनमे से कोई नहȣं  

Q28.2 सकल के चाचा æयाम बेरोजगार थे ( सहȣ \ गलत )           1 

Q28.3 सकल के ǒपताजी ने क़ज़[ Èयɉ िलया ?                      1 

Q28.4 सकल को पदोÛनित Èयɉ िमली ?                          1 

 

Section-D  

(Short Answer Type Questions)( 3x5=15) 

Q.29 What was the main Difference between the Views of Gandhi ji and Netaji Subhash 
Chandra Bose? 

गाँधी जी और नेताजी के ǒवचारो मɅ मÉुय भदे Èया था ? 

Q.30 Describe the Newspapers criticizing the British Rule . 

अĒंेजी शासन कȧ आलोचना करने वाल ेसमाचार पğɉ का वण[न करɅ | 

Q.31 Why has 82degree30 minutes East been selected as the Standard Meridian of 
India?  

82ǑडĒी 30िमनटपवू[ देशांतर को भारत कȧ मानक याàयोƣर Èयɉ माना जाता है ?  

Q.32 The Tamil Nadu coast receives Winter Rainfall . Why? 

तिमलनाडू तट पर शीत ऋत ुमɅ वषा[ होती है | Èयɉ ? 

Q.33 Why was Apartheid System Oppressive for the Blacks?  

रंगभदे कȧ शासकȧय नीित अƳेतɉ के िलए दमनकारȣ Èयɉ थी ? 

 
                                 



                                                                                Section- E 

                                       (Essay Type Questions) (5x4=20) 

Q.34 a) Explain the Origin and Spread of Quit India Movement. 

असहयोग आÛदोलन के काय[Đम एव ंमह×व पर चचा[ करɅ | 

                          Or 

 b) Discuss the Role of Sardar Patel in the Integration of Princely States. 

ǐरयासतɉ के एकȧकरण मɅ सरदार पटेल कȧ भिूमका पर ǒवचार करɅ | 

 
Q.35 a) Give an Account of the Northern Plains Of India. 

भारत के उƣरȣ मदैान का वण[न कȧǔजये | 

                            Or  

b) Why has India a rich Heritage of Flora and Fauna? 

भारत वनèपित जगत तथा Ĥाणी जगत कȧ धरोहर मɅ Èयɉ धनी है | 

 
Q.36 a) Explain the Major Features of Democracy. 

लोकतंğ कȧ मÉुय ǒवशेषताओं कȧ åयाÉया करɅ | 

                              Or 

 b) Explain the Power and Functions of Judiciary. 

Ûयायपािलका कȧ शǒƠ एवं कायɟ का वण[न करɅ | 

 
Q.37 a) Discuss the Major Reasons for Poverty in India. 

भारत मɅ िनध[नता के मÉुय कारणɉ का वण[न करɅ | 

                              Or 

b) Difference between Disguised and Seasonal Unemployment . 

मौसमी और ĤÍछÛन बेरोजगारȣ मɅ अतंर èपƴ करɅ | 

 
 

 

 

 



SECTION-F  

(MAP SKILL BASED QUESTION)(2+3=5) 

Q.38 A. On the given outline map of India show the following places:   2 

भारत के Ǒदए गए Ǿपरेखा मानिचğ पर िनàनिलǔखत èथानɉ को दशा[इए: 

a. City where Home Rule League was founded in India  

वह शहर ǔजसम ेहोमǽेल लीग कȧ èथापना हुई  

b. Princely State of Hyderabad 

हैदराबाद कȧ ǐरयासत  

B. On the given outline map of India show the following places:   3 

भारत के Ǒदए गए Ǿपरेखा मानिचğ  मɅ  िनàनिलǔखत èथानɉ को दशा[इए: 

a. Nilgiri Hills 

नीलिगरȣ कȧ पहाǑड़या ं 

b. Chilika lake 

िचãका झील  

c. State having highest Population Density in India  

भारत मɅ सबस ेअिधक जनसÉँया घन×व वाला राÏय  
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Section-A MCQs (1x20) 

Tick the Correct Answer                                                                                                              

सही उȅर पर िनशान लगाइए।  

 1. In which year Saraswati Sindhu Civilization was excavated?  

  a) 1922-23      b) 1920-21      c) 1921-22       d) 1923-29 

  सरˢती िसंधु सɷता की खुदाई िकस वषŊ की गई थी? 

  a) 1922-23   b) 1920-21  c) 1921-22  d) 1923-29 

 2. What features are found in the cities of Saraswati Sindhu civilization?  

 a) Metalled Roads    b) Drainage   c) Granaries    d)  All of the above 

   सरˢती िसɀु सɷता के नगरो ंमŐ Ɛा-Ɛा िवशेषताएँ पाई जाती हœ? 

 a) मेटल वाली सड़कŐ   b) डŌ े नेज  c) अɄ भंडार  d) उपरोƅ सभी 



 3. The king/ ruler of Egypt were called?  

 a) Maharaja       b) Wang    c) Pharaoh    d) Administrator 

    िमŷ का राजा/शासक कहा जाता था? 

 a) महाराजा   b) वांग    c) फ़राओ  d) Ůशासक 

4. Which one of the following types of resources is Iron ore?  

    a) Renewable     b) Flow     c) Biotic      d) Non-renewable  

    लौह अयˋ िनɻ मŐ से िकस Ůकार का संसाधन है? 

     a) नवीकरणीय   b) Ůवाह   c) जैिवक  d) गैर-नवीकरणीय 

5. On which river Sardar Sarovar Dam located?  

       a) Tapi      b) Narmada       c) Mahi       d) Luni 

सरदार सरोवर बांध िकस नदी पर İ̾थत है? 

       a) तापी   b) नमŊदा   c) माही     d) लूनी 

6. Which is known as Golden Fibre?  

      a) Cotton      b) Silk        c) Jute            d) Paddy 

   गोʒन फाइबर िकसे कहा जाता है? 

      a) कपास   b) रेशम   c) जूट   d) धान 

7. When Sri Lanka got Independence?  

      a) 1947          b) 1948        c) 1949   d) 1950 

ŵीलंका कब आज़ाद Šआ? 

       a) 1947   b) 1948   c) 1949   d) 1950 

8. Which country is a "Holding together" federation?  

     a) India         b) Pakistan     c) Sri Lanka  d) USA 

कौन सा देश "होİʒंग टुगेदर" संघ है? 

         a) भारत   b) पािकˑान  c) ŵीलंका   d) यूएसए 



9. In which sector of India is Disguised Unemployment found?   

      a) Industrial Sector  b) Service sector c) Agriculture   d) none of these 

      भारत के िकस Ɨेũ मŐ ŮǅɄ बेरोजगारी पायी जाती है? 

       a) औȨोिगक Ɨेũ  b) सेवा Ɨेũ   c) कृिष  d) इनमŐ से कोई नही ं

10. When was WTO established?   

      a) 1990          b) 1995       c) 1998     d) 2000 

     िवʷ ʩापार संगठन की ̾थापना कब Šई थी? 

      a) 1990   b) 1995   c) 1998  d) 2000 

11. Who discovered Harappa? 

  हड़ɔा की खोज िकसने की थी? 

 a. Dayaram Sahni b. R.D.Benerjee c. James Todd d. Cunninghum 

 ए. दयाराम साहनी   बी. आरडी बनजŎ  सी. जेʈ टोड  डी. किनंघम 

12. what is the Meaning of “Veda”? 

  "वेद" का अथŊ Ɛा है? 

 a.Learning   b.Knowledge  c.Inspiration  d. book 

 ए. सीखना   बी ǒान   सी Ůेरणा   डी पुˑक 

13. who founded Islam? 

 इˠाम की ̾थापना िकसने की थी? 

 a. Jesus Christ b .Martin Luther c. Mohamud  d. Ibrahim 

 ए. जीसस Ţाइː   बी मािटŊन लूथर  सी महमूद   डी इŰािहम 

14.Social difference arise due to difference in? 

  सामािजक अंतर िकसमŐ अंतर के कारण उȋɄ होता है? 

 a.Race  b.Religion c.Language d.All of these 

 ए जाित   बी. धमŊ   सी भाषा   डी. ये सभी 



15. Nepal witnessed an extraordinary popular movement, aimed at restoring democracy in: 

 लोकतंũ को बहाल करने के उȞेʴ से नेपाल मŐ एक असाधारण लोकिŮय आंदोलन देखा गया: 

 a.April 2004 b.April 2005  c.April 2006 d. April 2007 

  a.अŮैल 2004   b.अŮैल 2005  c.अŮैल 2006  d. अŮैल 2007 

16.In China,the only one party that is allowed to rule is? 

 चीन मŐ केवल एक ही पाटŎ को शासन करने की अनुमित है? 

 a. Congress Party  b. BJP  c.Socialist Party d.Communist Party 

 ए कांŤेस पाटŎ  बी. बीजेपी   सी. सोशिलː पाटŎ  डी.कʄुिनː पाटŎ 

17. Two party system exists in? 

    िȪदलीय Ůणाली कहाँ िवȨमान है? 

 a.USA and China b.USA and UK c. USA and India  

 d. India and Pakistan 

 ए.USA और चीन  बी.USA और UK  सी. यूएसए और भारत   

 डी. भारत और पािकˑान 

18. Which of the following countries is an example of “Coming Together Federation”?  

   िनɻिलİखत मŐ से कौन सा देश "किमंग टुगेदर फेडरेशन" का उदाहरण है? 

 a.USA  b.India c. Spain  d.Belgium 

 ए.यूएसए  बी.भारत   सी. ˙ेन   डी.बेİʏयम 

19.Government owns most of the assets and provides all the service in which sector? 

सरकार िकस Ɨेũ मŐ अिधकांश संपिȅयो ंकी मािलक है और सभी सेवाएं Ůदान करती है? 

a. Private Sector b. Public Sector  c. Organised Sector d. Tertiary Sector 

ए िनजी Ɨेũ   बी. सावŊजिनक Ɨेũ  सी.संगिठत Ɨेũ    डी. तृतीय ŵेणी का उȨोग 

20.  In which year Consumer Protection Act was enacted? 

उपभोƅा संरƗण अिधिनयम िकस वषŊ बनाया गया था? 



a. 1985  b.1986  c.2002  d.2005 

ए 1985     बी.1986  सी.2002  डी.2005 

Section- B 

(Very Short Answer Questions) (2x6=12) 

Q.21 what are the main features of Urban Planning of Saraswati Sindhu civilization?        2 

सरˢती िसंधु सɷता के नगर िनयोजन की मुƥ िवशेषताएं Ɛा हœ? 

Q.22 Describe the four Noble Truths of Gautam Buddha?          2 

गौतम बुȠ के चार आयŊ सȑो ंका वणŊन करŐ? 

Q.23 What is Power Sharing?                                      2 

  पावर शेयįरंग Ɛा है?  

Q.24 What steps can be taken to control Soil Erosion in the hilly areas?   2 

        पहाड़ी Ɨेũो ंमŐ मृदा अपरदन को िनयंिũत करने के िलए Ɛा कदम उठाए  जा सकते हœ?  

Q.25 Distinguish between metallic and non- metallic minerals.      2 

धाİȕक और अधाİȕक खिनजो ंमŐ अंतर ˙ʼ कीिजए। 

Q.26 What is Barter System?         2 

 वˑु िविनमय Ůणाली Ɛा है ? 

Section- C 

(Case Study Based Questions)(2x4=8) 

Q. 27 Read the extract given below and answer the questions that follow: 
The value of final goods and services produced in each sector during a particular year provides 
the total production of the sector for that year. And the sum of production in the three sectors 
gives what is called the Gross Domestic Product (GDP) of a country. It is the value of all final 
goods and services produced within a country during a particular year. GDP shows how big the 
economy is. In India, the mammoth task of measuring GDP is undertaken by a central 
government ministry. This Ministry, with the help of various government departments of all the 
Indian states and union territories, collects information relating to total volume of goods and 
services and their prices and then estimates the GDP. When we produce a good by exploiting 
natural resources, it is an activity of the primary sector. The secondary sector in which natural 



products are changed into other forms through ways of manufacturing that we associate with 
industrial activity. After primary and secondary, there is a third category of activities that falls 
under the tertiary sector and is different from the above two. These are activities that help in the 
development of the primary and secondary sectors. These activities, by themselves, do not 
produce a good but they are an aid or a support for the production process. 

 
27.i Which sector has emerged as the largest producing sector in India? 
27.ii Life insurance is an activity of which sector? 
27.iii What is GDP? 

27.iv who calculate GDP in India? 

नीचे ᳰदए गए उ᳍रण को पᳰढ़ए और नीचे ᳰदए गए ᮧ᳤ᲂ के उᱫर दीिजए: 

ᳰकसी िवशेष वषᭅ के दौरान ᮧ᭜येक ᭃेᮢ मᱶ उ᭜पाᳰदत अंितम व᭭तुᲐ और सेवाᲐ का म᭨ूय उस वषᭅ के िलए ᭃेᮢ का 
कुल उ᭜पादन ᮧदान करता ह।ै और तीन ᭃेᮢᲂ मᱶ उ᭜पादन का योग वह दतेा ह ैिजस ेᳰकसी दशे का सकल घरेल ू

उ᭜पाद (जीडीपी) कहा जाता ह।ै यह ᳰकसी िवशेष वषᭅ के दौरान ᳰकसी दशे के भीतर उ᭜पाᳰदत सभी अंितम 

व᭭तुᲐ और सेवाᲐ का म᭨ूय ह।ै जीडीपी से पता चलता ह ै ᳰक अथᭅ᳞व᭭था ᳰकतनी बड़ी ह।ै भारत मᱶ, सकल 

घरेलू उ᭜पाद को मापने का िवशाल कायᭅ कᱶ ᮤ सरकार के एक मंᮢ ालय ᳇ारा ᳰकया जाता ह।ै यह मंᮢ ालय, सभी 
भारतीय रा᭔यᲂ और कᱶ ᮤ शािसत ᮧदशेᲂ के िविभ᳖ सरकारी िवभागᲂ कᳱ मदद से, व᭭तुᲐ और सेवाᲐ कᳱ कुल 

माᮢा और उनकᳱ कᳱमतᲂ स ेसंबंिधत जानकारी एकᮢ करता ह ैऔर ᳰफर जीडीपी का अनुमान लगाता ह।ै जब 

हम ᮧाकृितक संसाधनᲂ का दोहन करके ᳰकसी व᭭तु का उ᭜पादन करत ेह,ᱹ तो यह ᮧाथिमक ᭃेᮢ कᳱ एक गितिविध 

ह।ै ि᳇तीयक ᭃेᮢ िजसमᱶ ᮧाकृितक उ᭜पादᲂ को िविनमाᭅण के तरीकᲂ के मा᭟यम से अ᭠य ᱨपᲂ मᱶ पᳯरवᳶतत ᳰकया 
जाता ह ै िजसे हम औ᳒ोिगक गितिविध से जोड़त ेह।ᱹ ᮧाथिमक और मा᭟यिमक के बाद, गितिविधयᲂ कᳱ एक 

तीसरी ᮰ेणी ह ैजो ततृीयक ᭃेᮢ के अंतगᭅत आती ह ैऔर उपरोᲦ दोनᲂ से अलग ह।ै ये ऐसी गितिविधयाँ ह ᱹजो 
ᮧाथिमक और ि᳇तीयक ᭃेᮢᲂ के िवकास मᱶ मदद करती ह।ᱹ ये गितिविधयाँ, अपने आप मᱶ, एक अ᭒छा उ᭜पादन 

नहᱭ करती ह,ᱹ लेᳰकन व ेउ᭜पादन ᮧᳰᮓया के िलए एक सहायता या समथᭅन ह।ᱹ 

27.i कौन सा ᭃेᮢ भारत मᱶ सबसे बड़ ेउ᭜पादक ᭃेᮢ के ᱨप मᱶ उभरा ह?ै 

27.ii जीवन बीमा ᳰकस ᭃेᮢ कᳱ गितिविध ह?ै 

27.iii जीडीपी ᭍या है? 

27.iv भारत मᱶ सकल घरेलू उ᭜पाद कᳱ गणना कौन करता ह?ै 

Q.28 Read the extract given below and answer the questions that follow: 
In 1956, an Act was passed to recognize Sinhala as the only official language, thus disregarding 
Tamil. The governments followed preferential policies that favored Sinhala applicants for 
university positions and government jobs. A new constitution stipulated that the state shall 



protect and foster Buddhism. All these government measures, coming one after the other, 
gradually increased the feeling of alienation among the Sri Lankan Tamils. They felt that none of 
the major political parties led by the Buddhist Sinhala leaders was sensitive to their language and 
culture. They felt that the constitution and government policies denied them equal political 
rights, discriminated against them in getting jobs and other opportunities and ignored their 
interests. As a result, the relations between the Sinhala and Tamil communities strained over 
time. The Sri Lankan Tamils launched parties and struggles for the recognition of Tamil as an 
official language, for regional autonomy and equality of opportunity in securing education and 
jobs. But their demand for more autonomy to provinces populated by the Tamils was repeatedly 
denied. By 1980s several political organizations were formed demanding an independent Tamil 
Eelam in northern and eastern parts of Sri Lanka. 
28.i  What is the moral reason behind power sharing? 
A. It gives absolute power to the government 
B. It gives absolute power to the people. 
C. It is the very spirit of democracy 
D. It ensures development. 
28.ii Which is the official language of Sri-Lanka? 
A.Hindi 
B.Tamil 
C.Sinhala 
D.Noneofthese 
28.iii Sri-Lanka emerged as an independent country in____ 
A.1956 
B.1948 
C.1947 
D.1951 

28.iv In which year did Tamil Eelam form? 

 

नीचे ᳰदए गए उ᳍रण को पᳰढ़ए और नीचे ᳰदए गए ᮧ᳤ᲂ के उᱫर दीिजए: 

1956 मᱶ, ᳲसहल को एकमाᮢ आिधकाᳯरक भाषा के ᱨप मᱶ मा᭠यता दनेे के िलए एक अिधिनयम 
पाᳯरत ᳰकया गया था, इस ᮧकार तिमल कᳱ अवहलेना कᳱ गई थी। सरकारᲂ ने तरजीही नीितयᲂ का 
पालन ᳰकया जो िव᳡िव᳒ालय के पदᲂ और सरकारी नौकᳯरयᲂ के िलए ᳲसहली आवेदकᲂ के पᭃ मᱶ 
थᱭ। एक नए संिवधान ने िनधाᭅᳯरत ᳰकया ᳰक रा᭔य बौ᳍ धमᭅ कᳱ रᭃा करेगा और उसे बढ़ावा दगेा। 
एक के बाद एक आने वाले इन सभी सरकारी उपायᲂ ने धीरे-धीरे ᮰ीलंकाई तिमलᲂ के बीच अलगाव 

कᳱ भावना को बढ़ा ᳰदया। उ᭠हᲂने महसूस ᳰकया ᳰक बौ᳍ ᳲसहल नतेाᲐ के नतेृ᭜व मᱶ कोई भी ᮧमुख 
राजनीितक दल उनकᳱ भाषा और सं᭭कृित के ᮧित संवेदनशील नहᱭ था। उ᭠हᲂने महसूस ᳰकया ᳰक 
संिवधान और सरकार कᳱ नीितयᲂ ने उ᭠हᱶ समान राजनीितक अिधकारᲂ से वंिचत ᳰकया, नौकरी और 



अ᭠य अवसरᲂ को पाने मᱶ उनके साथ भेदभाव ᳰकया और उनके िहतᲂ कᳱ उपेᭃा कᳱ। पᳯरणाम᭭वᱨप, 

समय के साथ ᳲसहल और तिमल समुदायᲂ के बीच संबंध तनावपूणᭅ हो गए। ᮰ीलंकाई तिमलᲂ ने 
ᭃेᮢीय ᭭वायᱫता और िशᭃा और नौकᳯरयᲂ को हािसल करने मᱶ अवसर कᳱ समानता के िलए तिमल 
को एक आिधकाᳯरक भाषा के ᱨप मᱶ मा᭠यता दने े के िलए पा᳷टयᲂ और सघंषᲄ को लॉ᭠च ᳰकया। 
लेᳰकन तिमलᲂ ᳇ारा आबादी वाले ᮧांतᲂ के िलए अिधक ᭭वायᱫता कᳱ उनकᳱ मांग को बार-बार 

नकारा गया। 1980 के दशक तक ᮰ीलंका के उᱫरी और पूवᱮ िह᭭सᲂ मᱶ एक ᭭वतंᮢ तिमल ईलम कᳱ 
मांग को लेकर कई राजनीितक संगठनᲂ का गठन ᳰकया गया था। 

28.i सᱫा कᳱ साझेदारी के पीछे नैितक कारण ᭍या ह?ै 

ए। यह सरकार को पूणᭅ शिᲦ दतेा ह ै

B. यह लोगᲂ को पूणᭅ शिᲦ दतेा ह।ै 

C. यह लोकतंᮢ  कᳱ आ᭜मा ह ै

D. यह िवकास सुिनि᳟त करता ह।ै 

28.ii ᮰ीलंका कᳱ आिधकाᳯरक भाषा कौन सी ह?ै 

ए ᳲहदी 

बी तिमल 

सी ᳲसहल 

डी इनमᱶ से कोई नहᱭ 

28.iii ᮰ीलंका ____ मᱶ एक ᭭वतंᮢ दशे के ᱨप मᱶ उभरा 

ए.1956 

बी.1948 

सी .1947 

डी.1951 

28.iv तिमल ईलम ᳰकस वषᭅ अि᭭त᭜व मᱶ आया? 

 



 

 

Section-D 

(Short Answer Type Questions)(3x5=15) 

Q. 29 What are the disadvantages of Multi-purpose River Projects?           3 

बᱟउ᳎े᭫ यीय नदी पᳯरयोजनाᲐ के ᭍या नुकसान ह?ᱹ 

Q.30 What are the similarities between Christianity and Islam?                3 

ईसाई धमᭅ और इ᭭लाम मᱶ ᭍या समानताए ंह?ᱹ 

Q. 31 State any three differences between Local Self Government before and after the 
Constitutional Amendment 1992.                 3 

  संिवधान संशोधन 1992 से पहल ेऔर बाद मᱶ ᭭थानीय ᭭वशासन के बीच ᳰक᭠हᱭ तीन अंतरᲂ को बताए।ं  

Q. 32 what do you understand by “Drain of Wealth” from India?      3 

      भारत से "धन की िनकासी" से आप Ɛा समझते हœ? 

Q.33 Explain how Agriculture and Industries move hand in hand?     3 

        कृिष और उȨोग कैसे साथ-साथ चलते हœ. ʩाƥा करŐ  

Section- E 

(Essay Type Questions) (5x4=20) 

Q. 34 Define Globalization. What are its good effects on India?         5 

व᳡ैीकरण को पᳯरभािषत करᱶ। भारत पर इसके अ᭒छे ᮧभाव ᭍या ह?ᱹ  

OR 

 Explain the Rights of consumers under Consumer Protection Act, 1986. 

उपभोᲦा संरᭃण अिधिनयम, 1986 के अधीन उपभोᲦाᲐ के अिधकारᲂ कᳱ ᳞ा᭎या कᳱिजए। 

Q. 35 Describe how communities have conserved and protected forests and wildlife in India.   5 

 वणᭅन करᱶ ᳰक समुदायᲂ ने भारत मᱶ वनᲂ और व᭠य जीवन को कैस ेसंरिᭃत और संरिᭃत ᳰकया ह।ै 

OR 



Explain the Geographical and climatic conditions required for the production of Rice in 
India. Describe its distribution also.  

भारत मᱶ चावल के उ᭜पादन के िलए आव᭫यक भौगोिलक एव ंजलवाय ुदशाᲐ कᳱ ᳞ा᭎या कᳱिजए। 
इसके िवतरण का भी वणᭅन कᳱिजए। 

Q. 36 what are the different forms of Power sharing in modern Democracies? Give examples.    5 

आधुिनक लोकतंᮢ  मᱶ सᱫा कᳱ साझेदारी के िविभ᳖ ᱨप ᭍या ह?ᱹ उदाहरण दो।   

OR 

        What is a political party? Explain the challenges faced by political parties.   

    एक राजनीितक दल ᭍या ह?ै राजनीितक दलᲂ के सामन ेआने वाली चुनौितयᲂ कᳱ ᳞ा᭎या कᳱिजए। 

Q.37 Describe the Social and Cultural life of the Saraswati- Sindhu civilization.  5 

 सर᭭वती-ᳲसधु स᭤यता के सामािजक एव ंसां᭭कृितक जीवन का वणᭅन कᳱिजए। 

OR 

     Explain in detail the reasons for the decline of Saraswati Sindhu civilization.                        

   सर᭭वती ᳲसधु स᭤यता के पतन के कारणᲂ को िव᭭तार से समझाइए। 

SECTION-F 

(MAP SKILL BASED QUESTION)(2+3=5) 

Q.38             

A) On the given outline map of World show the two imperialism nation:    2 

 िव᳡ के ᳰदए गए ᱨपरेखा मानिचᮢ पर  दो साĨाÏयवादȣ दशेᲂ को दशाᭅइए:  
B) On the given outline map of India show the following places:    3 

भारत के ᳰदए गए ᱨपरेखा मानिचᮢ पर िन᳜िलिखत ᭭थानᲂ को दशाᭅइए: 

1. Bhakhra Nangal Dam    भाखड़ा नंगल बांध 

2. Cochin Port     कोचीन बंदरगाह 

3. Bhilai Iron and Steel Plant   िभलाई लोहा और इ᭭पात संयंᮢ 

 

 



 



                          SOCIALSCIENCE -    IX 

Step wise Marking Scheme (Answer key)-  

1. A) Sept 11,1893AD (page7, ch1, history) 

      A) Sept 11,1893ई  

2. C) A.O. Hume (page33,ch3,history) 

   C) ए ओ ƻमू 

3. B) Punjab ( page51, ch4, history) 

   B)पंजाब  

4. C) 1946AD(page103, ch7, history) 

.   C) 1946ई  

5. B) 1938AD ( page132,ch9,history) 

     B)1938ई  

6. C) Chaudhary Chhotu Ram (page134,ch9,history) 

     C)चौधरȣ छोटू राम  

7. C) 1958-1961 (ch-what is democracy ? why  Democracy ? ,political science) 

    C) 1958-1961ई  

8. A) Those Elected by the People( ch-what is democracy ? why  Democracy ? ,political science) 

    A) लोगो Ʈारा चुने हुए Ĥितिनिध के पास 

9. B) 1950 (ch-what is democracy ? why  Democracy ? ,political science) 

    B) 1950ई  

10.C) Home Minister ( exercises, ch-Working of Institution, political science) 

      C) गहृ मंğी  

11. D) India  (ch- Constitutional design , political Science)  

   D) भारत  



12.C) The President of India ( ch-Electoral Politics, PoliticalScience) 

   C) भारत के राƶपित  

13. A) Both a and b are true (ch-Democratic Rights , political science) 

   A)  a और  b दोनɉ सहȣ है     

14. B) 1972 (page48,ch5, geography) 

   B) 1972                             

15. C) Tapi (page21, ch3, geography) 

   C) तापी  

16. A) Bihar (page54, ch6, geography) 

   A)  ǒबहार                                  

17 .D) All of these (page2, ch1, economics) 

   D) ये सभी 

18. A) Primary Activity (page1,ch1, economics) 

   A)  Ĥाथिमक                                

19. C) Both A and B(page5,ch1, economics) 

   C)  A  और  B  दोनɉ  

20. B) 2000( page 39,ch 3, economics) 

      B) 2000ई  

21.By Swami Dayanand Saraswati in 1875AD, (page 4 ,ch-1, history ) 

आय[ समाज कȧ èथापना èवामी दयानंद सरèवती ने 1875ई मɅ कȧ | 

22.    a. Struggle for the Independence of India .  ( ch-4  ,page-56, history) 

     b. The youth were called upon to join revolutionary activity  

     भारत कȧ आज़ादȣ के िलए संघष[ | 

     नवयुवको को ĐǔÛतकारȣ गितǒविधयɉ मɅ शािमल करना | 



23. Official Enumeration  of Population done periodically i.e. every 10 years . (page53, ch6, 
geography) 

   एक िनǔƱत समयांतराल मɅ जनसँÉया कȧ आिधकाǐरक गणना , ‘जनगणना’ कहलाती है | 

24. Bio reserve is a protected area for plant and animal species and their Ecosystem. Examples 
are Nanda Devi, Sundarbans (Page52, ch5, geography) 

जीवो एवं वनèपित के सरं¢ण के िलए एक Ĥाकृितक आवास | उदाहरण- नंदा देवी , सुंदरबन  

25. A set of norms and guidelines to be followed by Political parties and Contesting Candidates 
during Election time. (Page74,ch3, political science). 

  चुनाव के समय पाटȹ और उàमीदवारɉ Ʈारा माने जाने वाले कायदे-कानून और Ǒदशा िनदȶश |  

26. The food procured by the FCI is distributed through govt. Regulated ration shops among the 
poorer sections of the society.(page47,ch4,economics ) 

   भारतीय खाƭ िनगम Ʈारा अिधĤाƯ अनाज को सरकार ǒविनयिमत राशन दकुानɉ के माÚयम 
से समाज के गरȣब वगɟ मɅ ǒवतǐरत करती है | 

27. Case study(page98,ch5, political science) 

    27.1 Monarchy  

      राजशाहȣ शासन  

    27.2 Islam (muslim) 

      इèलाम (मुǔèलम) 

    27.3 No 

         नहȣं  

    27.4 A) Freedom of speech and expressions 

अिभåयǒƠ कȧ èवतÛğता 

28. Case study (page17,ch2, economics) 

    28.1. B)Housewife 

       गहृणी  

    28.2  True  ,  सहȣ  



    28.3 He raised a loan for Sakal to study a Vocational course in computers. 

      उÛहɉने सकल के िलए कंÜयूटर के åयावसाियक कोस[ मɅ अÚययन के िलए क़ज़[ िलया |  

    28.4 Sakal designed a new software which increased the sale of the Firm. 

       उसने एक नए Ĥकार के सॉÝटवेयर  को Ǒडजाईन  Ǒकया | इस सॉÝटवेयर से फम[ को    
अपनी ǒबĐȧ बढाने मɅ सहायता िमली | 

 29.a. Gandhiji believed in the policy of Non violence but Netaji was in favour of launching    
the freedom struggle . 

    b. Netaji criticised Gandhi ji for Gandhi-Irvin pact and showed sympathy towards 
Revolutionaries.  ( Page96,97, ch-7,history.) 

  गाँधी जी अǑहंसा कȧ नीित मɅ ǒवƳास रखते थे जबǑक नेताजी सरकार को समयबƨ चेतावनी 
देकर èवंतंğता सघंष[ छेड़ने के प¢धर थे | 

   गाँधी इरǒवन समझौते के समय नेताजी ने गांधीजी कȧ आलोचना कȧ तथा Đांितकाǐरयɉ के 
Ĥित सहानुभूित Ĥदिश[त कȧ | 

30.Newspapers such as ‘Bangdoot’, ‘Samvaad Kaumudi’ published by Raja Ram Mohan Roy. 

‘Bengal ’, ‘Kesari’ , ‘The Hindu’, ‘Young India’ were published. Published criticism of British 

Govt, Democratic Ideas and Spirit of Freedom.(page 26, ch2 ,history) 

राजा राम मोहन रॉय Ʈारा Ĥकािशत ‘बंगदतू’ , ‘संवाद कौमुदȣ’ ,बंगाली केसरȣ Ǒद ǑहÛद ूयंग 
इंǑडया Ĥकािशत हुए | इन समाचार पğɉ ने अĒेंजी सरकार कȧ आलोचना Ĥकािशत कȧ एवं 
लोकताǔÛğक ǒवचारो एवं èवÛतÛğता कȧ भावना को लोगो मɅ लोकǒĤय बनाया |    

31.The longitudinal extent of India from Gujrat to Arunachal Pradesh is about 30degrees. There 
is time lag of two hours. Hence time along 82degree30minutes East is taken as standard time for 
the whole country. (Page 2, ch1,Geography. 

गुजरात से अǽणाचल Ĥदेश तक देशांतर का ǒवèतार लगभग 30 ǑडĒी है| इनके èथानीय समय 
मɅ 2 घंटे का अतंर है | अत: 82ǑडĒी 30 िमनट पूव[ देशांतर रेखा को भारत कȧ मानक याàयोƣर 
माना गया है | 

32. Trade Winds blowing from Sea to Land .Depressions and Cyclones along the Coromandel 
Coast.( Page 31,35, ch4 , Geography.) 

åयापाǐरक पवनो के कारण कुछ माğा मɅ वषा[ तिमलनाडु के तट पर होती है | 

कोरोमंडल तट पर अिधकतर वषा[ चĐवातो या अवदाबो  से होती है | 



33.The system of  Apartheid divided the people and labelled them on the basis of their skin 
Colour.The White rulers treated all non-whites as inferiors.Non –whites did not have voting 
Rights.(ch2,constitutional design , political science) 

रंगभेद कȧ राजनीित  ने लोगो को उनकȧ चमड़ȣ के रंग के आधार पर बाँट Ǒदया | गोरे शासक, 
गोरो के आलावा शेष सब को छोटा और नीचा मानते थे |इÛहे वोट डालने का अिधकार भी नहȣं 
था | 

Q34 to Q37 – Teacher will check accordingly judgement and understanding( value point based). 

अÚयापक अपने ǒववेक से उƣर कȧ जांच करे | (मूãय ǒबंद ुअनुसार) 

Q38 Map 

मानिचğ  

History इितहास  

a. Madras (Chennai) 

मġास (चेÛनई ) 

b. Hyderabad  

हैदराबाद  

Geography भूगोल  

a. Nilgiri hills   

िनलिगरȣ कȧ पहाǑड़या  

b. Chilika lake ( Odisha coast) 

            िचिलका झील ( ओǑडशा तट ) 

c. Bihar  

     ǒबहार  

 



MARKING SCHEME 

CLASS- X 

SOCIAL SCIENCE (2023-24) 

Q.No Questions Answers Marks 
1 C.1921-22 

 
C.1921-22 
 

1 

2 D. All of The Above 
 

D) उपरोƅ सभी 

1 

3 c) Pharaoh  
    

c) फ़राओ 
 

1 

4 d) Non-renewable 
 

d) गैर-नवीकरणीय 

1 

5 b) Narmada        

b) नमŊदा   

1 

6 c) Jute           

c) जूट 

1 

7 b) 1948         

ख) 1948 

1 

8 A. India  

 A.भारत    

1 

9 c) Agriculture   

c) कृिष 

1 

10 b) 1995  
      
b) 1995       

1 

11 a. Dayaram Sahni  

ए. दयाराम साहनी 
1 

12      b.Knowledge 
 

     बी ǒान 

1 



 
13 c. Mohamud 

सी महमूद 

1 

14 d.All of these 

डी. ये सभी 
1 

15 c.April 2006 

c.अŮैल 2006 

1 

16 d.Communist Party 

डी.कʄुिनː पाटŎ 
1 

17 b.USA and UK 

बी.USA और UK 

1 

18 a.USA  

ए.यूएसए 

1 

19 
 

b. Public Sector c. 

बी. सावŊजिनक Ɨेũ 
1 

20 b.1986  

बी.1986 
1 

21 Ans. The main features of Urban Planning of Saraswati-Sindhu 
Civilization were as follows: 

1) These cities were situated on the banks of the river. 
2) The cities were divided into two parts viz.citadel and lower 

town. 
3) Roads were broad and cut across on angle of 90. 

      (Any two points) 

उᱫर. सर᭭वती-ᳲसधु स᭤यता के नगर िनयोजन कᳱ म᭎ुय िवशेषताए ं

इस ᮧकार थᱭ: 

1) ये शहर नदी के ᳰकनारे बसे ᱟए थे। 
2) नगरᲂ को दो भागᲂ मᱶ िवभािजत ᳰकया गया था अथाᭅत् दगुᭅ और 
िनचला नगर। 
3) सड़कᱶ चौड़ी थᱭ और 90 के कोण पर कटी ᱟई थᱭ। 
 

(कोई दो ᳲबद)ु 
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22 Ans. The four Noble truths of Gautam Buddha are as follows: 
1. Sorrows or Pain : In the world,life-death,profit-loss,success-

failure,all are sorrows and pains. 
2. Cause of sorrow: The cause of sorrows and sufferings in the 

world is greed,lust and craving. 
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3. Control of sorrow: The only way to get rid of sorrows is 
abstinence. 

4. Path of Liberation: eight-fold path to be followed. 

उᱫर. गौतम ब᳍ु के चार आयᭅ स᭜य इस ᮧकार ह:ᱹ 

1. द:ुख या पीड़ा : संसार मᱶ जीवन-मरण, लाभ-हािन, यश-अपयश सब दखु-ददᭅ ह।ᱹ 

2. दखु का कारण : संसार मᱶ दखुᲂ और क᳥ᲂ का कारण लोभ, वासना और तृ᭬णा 

ह।ै 
3. दखुᲂ पर िनयंᮢण : दखुᲂ से मुिᲦ का एक माᮢ उपाय संयम ह।ै 

4. मुिᲦ का मागᭅ: अनुसरण करन ेके िलए आठ गुना मागᭅ 

23 Ans. Power sharing means the distribution of power among the organs 
of the government such as the legislature, executive, and judiciary. 
Power sharing helps in achieving the stability of political order. In 
power-sharing, power might even be shared at distinct levels such as 
union, state and local. 
 

उᱫर. सᱫा के बंटवारे का अथᭅ सरकार के अंगᲂ जैसे िवधाियका, कायᭅपािलका और 

᭠यायपािलका के बीच शिᲦ का िवतरण ह।ै सᱫा कᳱ साझदेारी राजनीितक 
᳞व᭭था कᳱ ि᭭थरता ᮧा᳙ करने मᱶ मदद करती ह।ै सᱫा-साझाकरण मᱶ, शिᲦ को 

संघ, रा᭔य और ᭭थानीय जैसे िविभ᳖ ᭭तरᲂ पर भी साझा ᳰकया जा सकता ह।ै 
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24 These steps can be taken to control soil erosion in hilly areas 
1. (i) Plowing along the contour lines decreases the speed of water 

flow down the slopes. 
2. (ii) terrace cultivation on slopes decreases erosion. 
3. (iii) Strip cropping: large fields are divided into strips. ... 
4. (iv) Shelter plantation: here Tree are planted in rows. 

पहाड़ी ᭃेᮢᲂ मᱶ िमᲵी के कटाव को िनयंिᮢत करन ेके िलए य ेकदम उठाए जा 
सकते ह ᱹ

1. (i) समोᲬ रेखाᲐ के साथ-साथ जुताई करन ेसे ढलानᲂ के नीचे जल ᮧवाह कᳱ 

गित कम हो जाती ह।ै 
2. (ii) ढलानᲂ पर सीढ़ीदार खेती से अपरदन कम होता ह।ै 
3. (iii) पᲵीदार फसलᱶ: बड़े खेतᲂ को पᳯᲵयᲂ मᱶ बांटा जाता ह।ै ... 

4. (iv) आ᮰य वᭃृारोपण: यहा ँपेड़ᲂ को पंिᲦयᲂ मᱶ लगाया जाता ह।ै 
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25 Answer: Metallic Minerals are minerals in which metal elements are 
present in their raw form. Non-metallic minerals do not contain any 
metal substances in them. When metallic minerals are melted a new 
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product is formed. In the case of non-metallic minerals, you don't get 
any new product after such a process. 

धाि᭜वक खिनज व ेखिनज होते ह ᱹिजनमᱶ धातु त᭜व अपन ेकᲬे ᱨप मᱶ उपि᭭थत 
होते ह।ᱹ अधाि᭜वक खिनजᲂ मᱶ कोई धातु पदाथᭅ नहᱭ होता ह।ै जब धाि᭜वक 
खिनजᲂ को िपघलाया जाता ह ैतो एक नया उ᭜पाद बनता ह।ै अधाि᭜वक खिनजᲂ 
के मामले मᱶ ऐसी ᮧᳰᮓया के बाद आपको कोई नया उ᭜पाद नहᱭ िमलता ह।ै 

26 Answer : 
Barter system was a system of exchange where goods were exchanged 
for goods and there was no common medium of exchange in the 
economy. Under this system, people exchanged commodities for 
commodities to satisfy their wants. 

व᭭तु िविनमय ᮧणाली िविनमय कᳱ एक ᮧणाली थी जहा ँव᭭तुᲐ का व᭭तᲐु के 
बदले िविनमय ᳰकया जाता था और अथᭅ᳞व᭭था मᱶ िविनमय का कोई सामा᭠य 
मा᭟यम नहᱭ था। इस ᮧणाली के तहत, लोगᲂ ने अपनी जᱨरतᲂ को परूा करन ेके 
िलए व᭭तᲐु का आदान-ᮧदान ᳰकया। 
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27  i Tertiary Sector 
.ii Tertiary Sector 
.iii The value of final goods and services produced in each sector 
during a particular year provides the total production of the sector for 
that year. 
.iv Central Government Ministry. 

.i तृतीयक ᭃेᮢ 

.ii तृतीयक ᭃेᮢ 

.iii ᳰकसी िवशेष वषᭅ के दौरान ᮧ᭜येक ᭃेᮢ मᱶ उ᭜पाᳰदत अिंतम व᭭तुᲐ और 
सेवाᲐ का म᭨ूय उस वषᭅ के िलए ᭃेᮢ का कुल उ᭜पादन ᮧदान करता ह।ै 
.iv कᱶ ᮤ सरकार मंᮢ ालय। 
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28 i) C .it is the very spirit of democracy. 
ii) C. Sinhala 
iii) B.1948 
iv) 1980s 

i) C. यह लोकतंᮢ कᳱ आ᭜मा ह।ै 
ii) सी ᳲसहल 
iii) बी.1948 
iv) 1980 के दशक 
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29 Disadvantages of multipurpose river projects: 
 Affect the natural flow of rivers causing poor sediment flow. 
 Excessive sedimentation at the bottom of the reservoir, 

resulting in rockier stream beds and poorer habitats for the 
aquatic life of rivers. 

 Makes it difficult for aquatic fauna to migrate, especially for 
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spawning, submersion of the existing vegetation and soil 
leading to its decomposition over a period of time.  

 Multi-purpose projects and large dams have also been the cause 
of many new environmental movements like the Narmada 
Bachao Andolan and the Tehri Dam Andolan etc. 
                                                                           (Any 3 Points) 

बᱟउ᳎ेशीय नदी पᳯरयोजनाᲐ के नुकसान: 
 

 नᳰदयᲂ के ᮧाकृितक ᮧवाह को ᮧभािवत करता ह ैिजससे तलछट का 
बहाव कम होता ह।ै 

 जलाशय के तल पर अ᭜यिधक अवसादन, िजसके पᳯरणाम᭭वᱨप नᳰदयᲂ के 
जलीय जीवन के िलए रॉᳰकयर ᭭ᮝीम बेड और गरीब आवास ह।ᱹ 

 जलीय जीवᲂ के िलए पलायन करना मुि᭫कल बनाता ह,ै िवशेष ᱨप से 
अंडे दने ेके िलए, मौजूदा वन᭭पित और िमᲵी के जलमᲨ होने के कारण 
समय कᳱ अविध मᱶ इसका अपघटन होता ह।ै 

 बᱟउ᳎े᭫यीय पᳯरयोजनाएं और बड़े बांध भी नमᭅदा बचाओ आंदोलन और 
ᳯटहरी बांध आंदोलन आᳰद जैसे कई नए पयाᭅवरणीय आदंोलनᲂ का कारण 
रह ेह।ᱹ 
                                                                                    (कोई 3 ᳲबद)ु 

 

30 Answer. Similarities in Christianity and Islam are as follows: 
1. Both believe that God lives in Heaven. 
2. Both believe that the soul is born only once. After death, it 

starts living in heaven or hell. 
3. Both believe that one day the world will end and they will be 

given heaven or hell on that day. 
4. Islam and Christianity only consider their own point of view is 

correct.  
उᱫर। ईसाई धमᭅ और इ᭭लाम मᱶ समानताएं इस ᮧकार ह:ᱹ 
1. दोनᲂ मानते ह ᱹᳰक ई᳡र ᭭वगᭅ मᱶ रहता ह।ै 
2. दोनᲂ का मानना ह ैᳰक आ᭜मा का ज᭠म एक ही बार होता ह।ै मरने 
के बाद वह ᭭वगᭅ या नकᭅ मᱶ रहने लगता ह।ै 
3. दोनᲂ का मानना ह ैᳰक एक ᳰदन दिुनया ख᭜म हो जाएगी और उस 
ᳰदन उ᭠हᱶ ᭭वगᭅ या नरक ᳰदया जाएगा। 
4. इ᭭लाम और ईसाइयत िसफᭅ अपनी बात को ही सही मानते ह।ᱹ 
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31 Before 1992: i It was directly under the control of the State 
Government. 
 ii Elections were not held regularly. 
 iii Elections were controlled by the State Governments. 
 After 1992: i Local Governments have got some powers to collect 
some taxes on their own. 
 ii. it became mandatory to hold regular elections in every 5 years. 
iii. 33% of total seats were kept reserved for women. 
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1992 से पहले: i यह सीधे रा᭔य सरकार के िनयंᮢण मᱶ था। 
 ii चुनाव िनयिमत ᱨप से नहᱭ होते थे। 
 iii चुनावᲂ को रा᭔य सरकारᲂ ᳇ारा िनयंिᮢत ᳰकया जाता था। 
 1992 के बाद:  

i ᭭थानीय सरकारᲂ को अपन ेदम पर कुछ कर वसूलने कᳱ कुछ शिᲦयाँ िमली ह।ᱹ 
 ii. हर 5 साल मᱶ िनयिमत चुनाव कराना अिनवायᭅ हो गया। 
iii. कुल सीटᲂ का 33% मिहलाᲐ के िलए आरिᭃत रखा गया था। 

32 The transfer of wealth from India to England for which Indian got no 
proportionate economic return, is called the Drain of Wealth. Till the 
Battle of Plassey, the European traders used to bring gold into India to 
buy Indian cotton and silk. However, after the conquest of Bengal, the 
British stopped getting gold into India. They began to purchase raw 
material for their industries in England from the surplus revenues of 
Bengal. Thus, began the process of plundering India's raw materials, 
resources and wealth to England. 
भारत से इं᭏लडᱹ को धन का ह᭭तांतरण िजसके िलए भारतीयᲂ को कोई 
समानुपाितक आᳶथक ᮧितफल नहᱭ िमला, धन का अपवाह कहलाता ह।ै ᭡लासी के 
य᳍ु तक, यूरोपीय ᳞ापारी भारतीय कपास और रेशम खरीदन ेके िलए भारत मᱶ 
सोना लाते थे। हालाँᳰक, बंगाल कᳱ िवजय के बाद, अᮕंेजᲂ ने भारत मᱶ सोना लाना 
बंद कर ᳰदया। उ᭠हᲂने बंगाल के अिधशेष राज᭭व से इं᭏लडᱹ मᱶ अपने उ᳒ोगᲂ के 
िलए कᲬा माल खरीदना शᱨु कर ᳰदया। इस ᮧकार, भारत के कᲬे माल, संसाधनᲂ 
और धन को इं᭏लᱹड को लूटने कᳱ ᮧᳰᮓया शुᱨ ᱟई। 
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33 Yes, agriculture and industries move hand-in-hand and complement 
each other. Both of them increase demand for each other's goods and 
also serve as a market for each other. For example, agro-based 
industries like sugar and textiles are dependent for raw materials on 
agriculture. Tools and implements like PVC pipes, fertilizers, 
pesticides, insecticides, etc. required for cultivation of a field are 
manufactured by industries. These products help in increasing the 
productivity of farmers. 
Thus, it can be said that both are dependent on each other for 
increasing their efficiency. 
हां, कृिष और उ᳒ोग साथ-साथ चलते ह ᱹऔर एक दसूरे के पूरक ह।ᱹ य ेदोनᲂ एक 
दसूरे के सामान कᳱ मांग बढ़ाते ह ᱹऔर एक दसूरे के िलए बाजार का काम भी 
करत ेह।ᱹ उदाहरण के िलए, चीनी और कपड़ा जैसे कृिष आधाᳯरत उ᳒ोग कᲬे 
माल के िलए कृिष पर िनभᭅर ह।ᱹ ᳰकसी खेत कᳱ खेती के िलए आव᭫यक पीवीसी 
पाइप, उवᭅरक, कᳱटनाशक, कᳱटनाशक आᳰद जैसे उपकरण और उपकरण उ᳒ोगᲂ 
᳇ारा िनᳶमत ᳰकए जाते ह।ᱹ य ेउ᭜पाद ᳰकसानᲂ कᳱ उ᭜पादकता बढ़ाने मᱶ मदद 
करत ेह।ᱹ 
इस ᮧकार, यह कहा जा सकता ह ैᳰक दोनᲂ अपनी दᭃता बढ़ाने के िलए एक 
दसूरे पर िनभᭅर ह।ᱹ 
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34 It is defined as the integration of global economies through the 
movement of goods and services, cross-border trade, and so on. 
Positive effects of globalisation on Indian economy: 

5 



 The growth of foreign investment is enormous in the country in 
all sectors of development. 

 Has a tremendous impact on the social, monetary, cultural, and 
political area. 

 Due to improvements in transportation and information 
technology globalisation has taken a giant leap. 

 With the opportunity of Special Economic Zones (SEZ), there 
is an increase in the number of new jobs opportunity. 

 Due to the skill and knowledge a foreign company offers the 
Indian firms are increasing the compensation which indirectly is 
a positive impact on globalisation. 

 The Indian economy and the standard of living of an individual 
has increased. 

इसे व᭭तुᲐ और सेवाᲐ कᳱ आवाजाही, सीमा पार ᳞ापार आᳰद के मा᭟यम से 
वैि᳡क अथᭅ᳞व᭭थाᲐ के एकᳱकरण के ᱨप मᱶ पᳯरभािषत ᳰकया गया ह।ै भारतीय 
अथᭅ᳞व᭭था पर व᳡ैीकरण के सकारा᭜मक ᮧभाव: 
• िवकास के सभी ᭃेᮢᲂ मᱶ देश मᱶ िवदेशी िनवेश कᳱ वृि᳍ बᱟत अिधक ह।ै 
• सामािजक, मौᳰᮤक, सां᭭ कृितक और राजनीितक ᭃेᮢ पर जबरद᭭त ᮧभाव पड़ता 
ह।ै 
• पᳯरवहन और सूचना ᮧौ᳒ोिगकᳱ मᱶ सुधार के कारण व᳡ैीकरण ने एक लंबी 
छलागं लगाई ह।ै 
• िवशेष आᳶथक ᭃेᮢ (एसईजडे) के अवसर के साथ, नई नौकᳯरयᲂ के अवसरᲂ कᳱ 
सं᭎या मᱶ वृि᳍ ᱟई ह।ै 
• एक िवदेशी कंपनी ᳇ारा ᮧदान ᳰकए जाने वाल ेकौशल और ᭄ान के कारण 
भारतीय कंपिनयां मुआवजे मᱶ वृि᳍ कर रही ह ᱹजो अᮧ᭜यᭃ ᱨप से व᳡ैीकरण पर 
सकारा᭜मक ᮧभाव डालता ह।ै 
• भारतीय अथᭅ᳞व᭭था और ᳞िᲦ के जीवन ᭭तर मᱶ वृि᳍ ᱟई ह।ै 

Or 
Consumer Protection Act, 1986 seeks to promote and protect the 
interest of consumers against deficiencies and defects in goods or 
services. It also seeks to secure the rights of a consumer against unfair 
or restrictive trade practices. The Rights of the Consumer 

 Right to Safety- Before buying, a consumer can insist on the 
quality and guarantee of the goods. They should ideally 
purchase a certified product like ISI or AGMARK. 

 Right to Choose- Consumer should have the right to choose 
from a variety of goods and in a competitive price. 

 Right to be informed- The buyers should be informed with all 
the necessary details of the product, make her/him act wise, and 
change the buying decision. 

 Right to Consumer Education- Consumer should be aware of 
his/her rights and avoid exploitation. Ignorance can cost them 
more. 

 Right to be heard- This means the consumer will get due 
attention to express their grievances at a suitable forum. 



 Right to seek compensation- The defines that the consumer 
has the right to seek redress against unfair and inhumane 
practices or exploitation of the consumer. 

उपभोᲦा संरᭃण अिधिनयम, 1986 व᭭तुᲐ या सेवाᲐ मᱶ किमयᲂ और दोषᲂ के 
िवŜȠ उपभोƅाओ ंके िहतो ंको बढ़ावा देने और उनकी रƗा करने का Ůयास 
करता है। यह अनुिचत या Ůितबंधाȏक ʩापार Ůथाओ ंके िवŜȠ उपभोƅा 
के अिधकारो ंको सुरिƗत करने का भी Ůयास करता है। उपभोƅा के 
अिधकार 

• सुरƗा का अिधकार- खरीदने से पहले उपभोƅा सामान की गुणवȅा और 
गारंटी पर जोर दे सकता है। उɎŐ आदशŊ ŝप से आईएसआई या एगमाकŊ  
जैसे Ůमािणत उȋाद खरीदना चािहए। 

• चुनने का अिधकार- उपभोƅा को िविभɄ Ůकार की वˑुओ ंमŐ से और 
Ůित˙धŎ मूʞ मŐ चुनने का अिधकार होना चािहए। 

• सूिचत िकए जाने का अिधकार - खरीदारो ंको उȋाद के सभी आवʴक 
िववरणो ंके बारे मŐ सूिचत िकया जाना चािहए, उɎŐ कायŊवार बनाना चािहए, और 
खरीदारी के िनणŊय को बदलना चािहए। 

• उपभोƅा िशƗा का अिधकार- उपभोƅा को अपने अिधकारो ंके Ůित 
जागŝक होना चािहए और शोषण से बचना चािहए। अǒानता उɎŐ अिधक 
महंगी पड़ सकती है। 

• सुने जाने का अिधकार - इसका मतलब है िक उपभोƅा को उिचत मंच पर 
अपनी िशकायत ʩƅ करने के िलए उिचत ȯान िमलेगा। 

• मुआवजा मांगने का अिधकार- यह पįरभािषत करता है िक उपभोƅा के 
पास अनुिचत और अमानवीय Ůथाओ ंया उपभोƅा के शोषण के İखलाफ 
िनवारण का अिधकार है। 

35  Forests in India are the home to some of the traditional 
communities. 

 To secure their own long term livelihood, local communities 
have been struggling to protect their habitats. 

 By citing the Wildlife Protection Act, villagers have fought 
against mining in Sariska Tiger reserve. 

 In the Himalayas, afforestation with indigenous species was 
carried out through the famous Chipko Movement. The 
community managed to resist the deforestation in some places. 

 In the state of Rajasthan (Alwar), 1200 hectares of forest have 
been declared as Bhairodev Dakav ‘Sonchuri’ by the 
inhabitants of five villages. They protect the wildlife against 
any outside encroachments with their own rules and 
regulations. They do not allow hunting of animals. 

 By avoiding the use of synthetic chemicals, diversified crop 
production was achieved by farmers and citizens groups like 
Beej Bachao Andolan in Tehri and Navdanya. 

 Through involvement of local communities, degraded forests 
have been restored and managed through the Joint Forest 
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Management (JFM) Programme. 
 The first resolution for joint forest management was passed by 

Odisha. From 1988, this programme has been in existence. 
 As per JFM, local (village) institutions are formed to undertake 

protection activities managed by the forest department in the 
degraded forests. 
• भारत मŐ वन कुछ पारंपįरक समुदायो ंके घर हœ। 
• अपनी दीघŊकािलक आजीिवका को सुरिƗत करने के िलए, ̾थानीय 
समुदाय अपने आवासो ंकी रƗा के िलए संघषŊ कर रहे हœ। 
• वɊजीव संरƗण अिधिनयम का हवाला देकर Ťामीणो ंने सįरˋा 
टाइगर įरजवŊ मŐ खनन के İखलाफ लड़ाई लड़ी है. 
• िहमालय मŐ, ŮिसȠ िचपको आंदोलन के माȯम से ˢदेशी Ůजाितयो ं
के साथ वनीकरण िकया गया था। समुदाय कुछ ̾थानो ंपर वनो ंकी 
कटाई का िवरोध करने मŐ कामयाब रहा। 

• राज̾थान राǛ (अलवर) मŐ पाँच गाँवो ंके िनवािसयो ंȪारा 1200 
हेƃेयर वन को भैरोदेव डाकव 'सोनचुरी' घोिषत िकया गया है। वे 
अपने ˢयं के िनयमो ंऔर िविनयमो ंके साथ िकसी भी बाहरी 
अितŢमण से वɊजीवो ंकी रƗा करते हœ। वे जानवरो ंके िशकार की 
अनुमित नही ंदेते हœ। 
• िटहरी और नवदाɊ मŐ बीज बचाओ आंदोलन जैसे िकसानो ंऔर 
नागįरक समूहो ंȪारा िसंथेिटक रसायनो ंके उपयोग से बचकर िविवध 
फसल उȋादन हािसल िकया गया। 

• संयुƅ वन Ůबंधन (जेएफएम) कायŊŢम के माȯम से ̾थानीय 
समुदायो ंकी भागीदारी के माȯम से, िबगड़े Šए जंगलो ंको बहाल और 
Ůबंिधत िकया गया है। 
• संयुƅ वन Ůबंधन के िलए पहला Ůˑाव ओिडशा Ȫारा पाįरत िकया 
गया था। 1988 से यह कायŊŢम अİˑȕ मŐ है। 

• जेएफएम के अनुसार, ̾थानीय (Ťामीण) सं̾थानो ंका गठन िबगड़े Šए 
जंगलो ंमŐ वन िवभाग Ȫारा Ůबंिधत सुरƗा गितिविधयो ंको करने के 
िलए िकया जाता है। 

OR 
Oryza sativa is the scientific name of rice. This is termed the 
paddy. The major nutrient of rice is carbohydrates. Rice is the 
main food crop and vital ingredient in food in all parts of the 
world. Rice and its products have various importance. 
Climatic conditions required for the growth of rice: 
(i) It is a Kharif crop that requires a high temperature (above 25 
°C). 
(ii) High humidity with annual rainfall above 100 cm. 
(iii) In the areas of less rainfall, it grows with the help of 
irrigation. 
(iv) It is grown in the plains of north and north-eastern India, 
coastal areas and the deltaic regions. 
(v) Development of a dense network of canal irrigation and tube 



wells has made it possible to grow rice in areas of less rainfall 
such as Punjab and Haryana. 
चावल का वैǒािनक नाम ओराइजा सैिटवा है। इसे धान कहते हœ। चावल का 
Ůमुख पोषक तȕ काबŖहाइडŌ ेट है। चावल दुिनया के सभी िहˣो ंमŐ मुƥ 
खाȨ फसल और भोजन मŐ महȕपूणŊ घटक है। चावल और उसके उȋादो ं
का अलग महȕ है। 
चावल की वृİȠ के िलए आवʴक जलवायु पįरİ̾थितयाँ: 
(i) यह खरीफ की फसल है िजसके िलए उǄ तापमान (25 िडŤी सेİʤयस 
से ऊपर) की आवʴकता होती है। 
(ii) 100 सेमी से अिधक वािषŊक वषाŊ के साथ उǄ आūŊता। 
(iii) कम वषाŊ वाले Ɨेũो ंमŐ यह िसंचाई की सहायता से बढ़ती है। 
(iv) यह उȅर और उȅर-पूवŎ भारत के मैदानो,ं तटीय Ɨेũो ंऔर डेʐा Ɨेũो ं
मŐ उगाया जाता है। 
(v) नहर िसंचाई और नलकूपो ंके घने नेटवकŊ  के िवकास ने पंजाब और 
हįरयाणा जैसे कम वषाŊ वाले Ɨेũो ंमŐ चावल उगाना संभव बना िदया है। 

36 
 

Answer: 
Power-sharing is a vital ingredient of any constitution. Power-
sharing ensures that there is an optimum balance between 
different sections in the society. Each and every state should 
have some form of power-sharing. The chances of opportunity 
to every citizen increases. Power-sharing has its own value in a 
democracy. This ensures the stability of political order. 
Forms of power-sharing 
There are different forms of power-sharing in modern 
democracies which are listed below: 
 Horizontal distribution of power: 

 Power is shared among different organs of government, such as 
the legislature, executive and judiciary. 
Example – India This distribution ensures that none of the 
organs can exercise and utilise unlimited power. 

 Each and every organ keeps an eye on the others. 
 This system of arrangement is called a system of checks and 

balances. 
 Vertical distribution of power: 

 Power can be shared among governments at different levels. 
 A general central government for the entire country and 

governments at the provincial or state and regional level. 
 Example – India Union Government that is Central government 

and State Government. 
 Power-sharing between different social groups: 

This can be achieved by sharing the power between different 
social groups enhancing the participation in democratic and 
power systems. Reservation is a such policy. 
 Power-sharing between political parties, pressure groups 

and movements: 
 This kind of power-sharing competition ensures that power 

5 



does not remain in one hand. 
 For longer duration, power is shared among different political 

parties that represent different ideologies and social groups. 
 Certain Interest groups like businessmen, farmers, traders etc. 

will also have a share in governmental power either by 
participating directly through committees or indirectly by 
influencing the decision- making process. 
उȅर: 
शİƅ-साझाकरण िकसी भी संिवधान का एक महȕपूणŊ घटक है। शİƅ-
साझाकरण यह सुिनिʮत करता है िक समाज मŐ िविभɄ वगŘ के बीच एक 
इʼतम संतुलन हो। Ůȑेक राǛ मŐ शİƅ-साझाकरण का कोई न कोई ŝप 
होना चािहए। हर नागįरक को अवसर िमलने की संभावना बढ़ जाती है। 
लोकतंũ मŐ सȅा की साझेदारी का अपना महȕ है। यह राजनीितक ʩव̾था 
की İ̾थरता सुिनिʮत करता है। 
सȅा-साझाकरण के ŝप 
आधुिनक लोकतंũो ंमŐ शİƅ-साझाकरण के िविभɄ ŝप हœ जो नीचे सूचीबȠ 
हœ: 
 शİƅ का Ɨैितज िवतरण: 
• सȅा सरकार के िविभɄ अंगो,ं जैसे िवधाियका, कायŊपािलका और 
Ɋायपािलका के बीच साझा की जाती है। 
उदाहरण - भारत यह िवतरण सुिनिʮत करता है िक कोई भी अंग असीिमत 
शİƅ का Ůयोग और उपयोग नही ंकर सकता है। 
• Ůȑेक अंग दूसरे पर नजर रखता है। 
• ʩव̾था की इस Ůणाली को िनयंũण और संतुलन की Ůणाली कहा जाता है। 
 शİƅ का लंबवत िवतरण: 
• िविभɄ ˑरो ंपर सरकारो ंके बीच सȅा का बंटवारा िकया जा सकता है। 
• पूरे देश के िलए एक सामाɊ कŐ ū सरकार और Ůांतीय या राǛ और Ɨेũीय 
ˑर पर सरकारŐ । 
• उदाहरण – भारत संघ सरकार अथाŊत कŐ ū सरकार और राǛ सरकार। 
 िविभɄ सामािजक समूहो ंके बीच शİƅ-साझाकरण: 
इसे िविभɄ सामािजक समूहो ंके बीच शİƅ साझा करके लोकतांिũक और 
सȅा Ůणािलयो ंमŐ भागीदारी बढ़ाकर Ůाɑ िकया जा सकता है। आरƗण एक 
ऐसी नीित है। 
 राजनीितक दलो,ं दबाव समूहो ंऔर आंदोलनो ंके बीच सȅा की साझेदारी: 
• इस Ůकार की शİƅ-साझाकरण Ůितयोिगता यह सुिनिʮत करती है िक 
सȅा एक हाथ मŐ न रहे। 
• लंबी अविध के िलए, सȅा िविभɄ राजनीितक दलो ंके बीच साझा की जाती 
है जो िविभɄ िवचारधाराओ ंऔर सामािजक समूहो ंका Ůितिनिधȕ करते हœ। 
• ʩवसायी, िकसान, ʩापारी आिद जैसे कुछ िहत समूहो ंकी भी या तो 
सिमितयो ंके माȯम से ŮȑƗ ŝप से भाग लेकर या िनणŊय लेने की ŮिŢया 
को Ůभािवत करके अŮȑƗ ŝप से सरकारी सȅा मŐ िहˣेदारी होगी। 

OR 
 

There are many challenges faced by Political parties which are 
explained below: 



 Lack of internal democracy within parties is the first challenge. 
 Decisions are taken in the name of the party, by leaders having 

more power. 
 Personal loyalty to the leader becomes more important than the 

loyalty to party policies and principles. 
 Due to the system of succession due to dynasty in the political 

parties, ordinary and hardworking party members are unable to 
rise to the top. 

 A transparent and an open system of functioning is not followed 
by political parties, which prevents deserving party members 
from rising to the top. 

 Members of just one family hold complete control in many 
parties. This is not fair to other members of that party. 

 The other important challenge is, during elections there is a 
rising role of muscle power and money power in political 
parties. 

 Candidates who can raise lots of money or those who have lots 
of money are usually nominated by the Political Parties. 

 Political parties have supported many criminals for contesting 
elections.. 

 Decisions and policies of the political parties are usually 
influenced by organizations or rich people who give funds to 
the party. 

 Not giving meaningful choice to the voters is the fourth 
challenge that is often faced by political parties. 
 
राजनीितक दलो ंके सामने कई चुनौितयाँ हœ िजनका वणŊन नीचे िकया गया है: 
• पािटŊयो ंके भीतर आंतįरक लोकतंũ की कमी पहली चुनौती है। 
• पाटŎ के नाम पर िनणŊय अिधक शİƅ वाले नेताओ ंȪारा िलए जाते हœ। 
• पाटŎ की नीितयो ंऔर िसȠांतो ंके Ůित वफादारी की तुलना मŐ नेता के Ůित 
ʩİƅगत वफादारी अिधक महȕपूणŊ हो जाती है। 
• राजनीितक दलो ंमŐ वंशवाद के कारण उȅरािधकार की ʩव̾था के कारण 
पाटŎ के साधारण और मेहनती सद˟ शीषŊ तक नही ंपŠंच पाते हœ। 
• राजनीितक दलो ंȪारा कायŊ करने की एक पारदशŎ और खुली Ůणाली का 
पालन नही ंिकया जाता है, जो पाटŎ के योƶ सद˟ो ंको शीषŊ पर जाने से 
रोकता है। 
• एक ही पįरवार के सद˟ कई दलो ंपर पूरा िनयंũण रखते हœ। यह उस पाटŎ 
के अɊ सद˟ो ंके िलए उिचत नही ंहै। 
• दूसरी महȕपूणŊ चुनौती यह है िक चुनाव के दौरान राजनीितक दलो ंमŐ 
बाŠबल और धनबल की भूिमका बढ़ती जा रही है। 
• उʃीदवार जो बŠत सारा पैसा जुटा सकते हœ या िजनके पास बŠत पैसा है, 
उɎŐ आमतौर पर राजनीितक दलो ंȪारा नािमत िकया जाता है। 
• चुनाव लड़ने के िलए राजनीितक दलो ंने कई अपरािधयो ंका समथŊन िकया 
है.. 
• राजनीितक दलो ंके िनणŊय और नीितयां आमतौर पर उन संगठनो ंया अमीर 



लोगो ंसे Ůभािवत होती हœ जो पाटŎ को चंदा देते हœ। 
• मतदाताओ ंको साथŊक िवकʙ न देना चौथी चुनौती है िजसका अƛर  
राजनीितक दलो ंको सामना करना पड़ता है। 

37 The social life of the Indus Valley people was quite systematic 
and rich. The people of this civilization were peace-loving. The 
society was predominantly matriarchal. There were strong 
family organisations among the people. Social amusements 
included hunting wild animals, bullfighting, fishing, and clay 
modeling. 
Food: 
Food was mainly supplied from cities, and rice was probably 
grown in the Indus valley. Vegetables such as peas, sesamoids 
and fruits like date palms were part of the main food of the 
civilization. Other important foods consumed were wheat, 
barley, rice, milk, and others. Non-veg food items such as beef, 
mutton, pork, poultry, fish etc., were also consumed by the 
people of the Indus Valley Civilization. Agriculture was the 
main occupation of these people. 
Pottery: 
Pottery or metals like copper and bronze were used in most 
household articles. The art of pottery was well known and 
learned by the people of the civilization, and it attained 
excellence at Mohenjo-Daro.  
Clothing: 
The most common material used was cotton fabric, but wool 
was also used. The dresses of the people of the Indus valley 
were simple. Males wore shawls and modern dhoti, and women 
wore traditional dhoti kurta or sarees. 
Ornaments: 
The people of Indus Valley Civilization were very fond of 
ornaments. Males and females of all classes wore necklaces, 
armlets, finger rings, and bangles. Nose studs, earrings, and 
anklets were used by women only. There was a great variety in 
the shape and design of these ornaments. Rich people made 
ornaments of gold, silver, and ivory. People were well versed in 
the art of cosmetics. Indus valley people knew the use of gold, 
silver, copper, tin, lead, and bronze. 
Education and literacy 
The people were well educated, and the dominant population of 
the Indus people are assumed to be literate. People were well 
versed in literature, art and music. The drainage system of the 
civilization speaks of its cleanliness and public hygiene.  
 
िसंधु घाटी के लोगो ंका सामािजक जीवन काफी ʩवİ̾थत और समृȠ 
था। इस सɷता के लोग शांितिŮय थे। समाज मुƥतः  मातृसȅाȏक 
था। लोगो ंके बीच मजबूत पाįरवाįरक संगठन थे। सामािजक मनोरंजन 
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मŐ जंगली जानवरो ंका िशकार, सांडो ंकी लड़ाई, मछली पकड़ना और 
Ƒे मॉडिलंग शािमल थे। 

खाना: 
मुƥ ŝप से शहरो ंसे भोजन की आपूितŊ की जाती थी, और चावल 
शायद िसंधु घाटी मŐ उगाया जाता था। मटर, ितल जैसी सİɥयां और 
खजूर जैसे फल सɷता के मुƥ भोजन का िहˣा थे। खपत िकए 
जाने वाले अɊ महȕपूणŊ खाȨ पदाथŊ गेšं, जौ, चावल, दूध और अɊ 
थे। िसंधु घाटी सɷता के लोगो ंȪारा मांसाहारी खाȨ पदाथŊ जैसे बीफ, 
मटन, पोकŊ , पोʐŌ ी, मछली आिद का भी सेवन िकया जाता था। इन 
लोगो ंका मुƥ ʩवसाय कृिष था। 

िमǥी के बतŊन: 
अिधकांश घरेलू सामानो ंमŐ िमǥी के बतŊनो ंया धातुओ ंजैसे तांबे और 
कांसे का उपयोग िकया जाता था। िमǥी के बतŊनो ंकी कला सɷता 
के लोगो ंȪारा अǅी तरह से जानी और सीखी गई थी, और इसने 
मोहनजोदड़ो मŐ उǽृʼता Ůाɑ की। 

कपड़े: 
उपयोग की जाने वाली सबसे आम सामŤी सूती कपड़े थी, लेिकन ऊन 
का भी इˑेमाल िकया गया था। िसɀु घाटी के लोगो ंका पहनावा 
सादा होता था। पुŜषो ंने शॉल और आधुिनक धोती पहनी थी, और 
मिहलाओ ंने पारंपįरक धोती कुताŊ या साड़ी पहनी थी। 

आभूषण: 
िसंधु घाटी सɷता के लोग गहनो ंके बŠत शौकीन थे। सभी वगŘ के 
नर और मादा हार, बाजूबंद, अंगुिलयो ंमŐ अंगूिठयां और चूिड़यां पहनते 
थे। नाक के ːड, झुमके और पायल का इˑेमाल केवल मिहलाओ ं
Ȫारा िकया जाता था। इन गहनो ंके आकार और िडजाइन मŐ काफी 
िविवधता थी। धनी लोग सोने, चाँदी और हाथी दाँत के आभूषण बनाते 
थे। लोग सौदंयŊ Ůसाधन की कला मŐ पारंगत थे। िसंधु घाटी के लोग 
सोना, चांदी, तांबा, िटन, सीसा और कांसे का उपयोग जानते थे। 
िशƗा और साƗरता 
लोग अǅी तरह से िशिƗत थे, और िसंधु लोगो ंकी Ůमुख आबादी को 
साƗर माना जाता है। लोग सािहȑ, कला और संगीत के अǅे 
जानकार थे। सɷता की जल िनकासी Ůणाली इसकी ˢǅता और 
सावŊजिनक ˢǅता की बात करती है। 
 

OR 
 

The following were the reasons for the decline of Saraswati-
Sindhu Civilization: 
1. Administrative Slackness: By the end of the phase,there 
was a laxity in the administration of the civilization,due to 
which the size of the settlements became limited. 
2. Floods : Evidences of floods has been found from the 
excavations of Mohenjo-Daro,Chaunhdaro and Lothal. 
3.Climate Change:  climate change is also major reason in the 



decline of this civilization. 
4. Epidemic:  From the study of 42 human skeletons obtained 
from Mohenjo-Daro,it is found that 41 of these people died due 
to epidemics like malaria etc. 
5. Obstacles in Foreign Trade:  There was a decrease in 
foreign trade of the civilization due to which economic 
condition started weakening. 
 
सरˢती-िसंधु सɷता के पतन के िनɻिलİखत कारण थे: 
1. Ůशासिनक िशिथलता – काल के अंत तक सɷता के Ůशासन मŐ 
िशिथलता आ गई, िजसके कारण बİˑयो ंका आकार सीिमत हो गया। 

2. बाढ़ : मोहनजोदड़ो, चौɎाड़ो तथा लोथल की खुदाई से बाढ़ के 
Ůमाण िमले हœ। 

3. जलवायु पįरवतŊन: जलवायु पįरवतŊन भी इस सɷता के पतन का 
Ůमुख कारण है। 

4. महामारी : मोहनजोदड़ो से Ůाɑ 42 मानव कंकालो ंके अȯयन से 
पता चलता है िक इनमŐ से 41 ʩİƅयो ंकी मृȑु मलेįरया आिद 
महामाįरयो ंके कारण Šई थी। 
5. िवदेश ʩापार मŐ बाधाएँ – सɷता के िवदेशी ʩापार मŐ कमी आने 
लगी िजससे आिथŊक İ̾थित कमजोर होने लगी। 
 

38 a).  Engaland  
   
      France 
 
b)  Bhakhra nangal Dam is in Himachal Pradesh 
 
      Cochin Port is in Kerela 
 
      Bhilai Iron and Steel plant is in Chhattisgrh. 

a) इंÊलɇड 

         ĥांस 
 
b) भाखड़ा नंगल बांध िहमाचल Ůदेश मŐ है 
 
       कोचीन पोटŊ केरल मŐ है 
 
       िभलाई आयरन एंड ːील ɘांट छȅीसगढ़ मŐ है। 

2+3=5 
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